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IEX% - IiE - 5 - #5

IERS (LRL1) [ IERS (LRL2) | TEES (LRL3) | TERS (LRL4) ” *ﬁ s — # @ # @
T = 1.0 9, 298, 000
IR ERT = 1.0 9, 298, 000
EBRT = 1.0 9,298, 980
BRiGW i # ERRAE, PEMES | m2 380.0 24,471 9,298,980
e = 1.0 18, 605, 000
e = 1.0 18, 605, 000
EHRERET = 1.0 13, 460, 375
=Ty L—VEREE [L=800.8m 3tk 4N A | = 1.0[ 13, 460, 375 13, 460, 375
RBi5 - XRT = 1.0 4,419, 651
Ri5 = 1.0 4,419,651 4,419, 651
BREL = 1.0 496, 338
BRE - BREBREA  |Rr—no—515~1.7m3 | B5RE 3.7 9,065 33, 540
BRE - BEEBREB /Ny K0, 8m3 LS| 42.0 11,019 462, 798
IEFABERT = 1.0 228, 800
WHIRE (F#s) - &8 m2 2,200.0 104 228, 800
EETEE = 1.0 21,903, 000
HBRFREE = 1.0 11,958, 000
HiBRRE FELFHED = 1.0 7,671,000
ERE = 1.0 7,677,110
BU-VERHRE fER30E LLE m 336.0 6, 651 2,234,736
E/L—ILEH 57 A = 1.0 5,442,374
HBRHE (Fit L) = 1.0 3,931,072
RIBRGTRER (R5H L) = 1.0 350, 852
MIEE = 1.0 39, 861, 000
RIGEEE = 1.0 13, 158, 000
TERI = 1.0 53,019, 000
—REEES = 1.0 9,761,113
—REBEEES = 1.0 9,761, 000
TE{fitg = 1.0 62, 780, 000
HEBHESE = 1.0 6, 278, 000
FREE = 1.0 69, 058, 000
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